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;j General lustructions ; '
< All quesﬁon‘s are compulsory. ‘ '
« SectionA: Q. No. 1to 18 are very short answer questions (objective type) and carry 1 mark each.
b < Section B+ @. No. 19 to 25 aro short answer (Type - | Questions) and carry 2 marks cach.
it / = Section C: 0. No. 26 to 30 are short answer (Type - fI Questions) and carry 3 marks each.
g ¥ *lr Section D@ Q. No 31 and 32 are Case Study Type questions and carry 4 marks each. |
1 d

= Section E: Q. No. 33 and 35 are also long answer questions and carry 5 marks each.

SECTION A : (Objective Type Qnestions, LM) ' : | ;

5 i:.ofam M aqueous solution of NaClwas diluted by adding ]Lofwnter.Thwmolnriljro'f-thd‘-fn‘s‘tilinmwh‘ﬂi@ﬂ i e
(@) 0004 . (b) 0.008 - (€) 0012 YL (d) 0016 i
.ﬁ At given temperature, osmotic pressure of a concentrated solution of & substance ... . : |
xshﬂuﬂanﬂut ofa dilute solution (8) is lowerthan mutafﬂilme solution

*

uslhatot‘adllutesolunon Ly vl 7 S I

:g,og-;c.i* =135V, s°c,2,q- =1 36V'
oyt =151 Vi Bl ==074V.
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- A o bies when the temperature is
33. ¢ 7 What is the activation energy for a reaction, if its rate dou
35°C? (R=8314Jmorl" 'K ') . 150K
J (@) 342K mor™! (#) 269 %I mol™’ - (c) 34.7 “"""’r - (@ .
/ 8. Toluene reacts with-a halogen in the presence of iron (IIf) chloride giving orho and para bale
~reaction is )
(e) electrophilic elimination reaction () electrophilic subst‘tmt.:onle-:fh
(e) freeradical addition reaction (d) nucleophilic substitution reaction

. 9. Reaction of 1-phenyl-2-chloropropane with alcoholic KOH gives mainly

i (@) 1-phenylpropene  (5) 3-phenylpropene (c) I-phenylpropan-3-ol (d) 1
{

10. Which of the following is the correct increasing order for the rate of reaction of the given
(L nueleophilic substitution 7

'-'im' i i l . 2 1 1 e :
- . ' ) (#) (iid)

(@) () < () < i)

O. tm<in<m @ wm<uin<p () (<D<
11, A compound (X) with the molecular formula C3H;0 can be oxidised to another compound (Y) whose
formula s C3H,0,. The compound (X) may be a3

(ﬂ) CHJ CH:"‘"O"'CHJ

L

®) CHJ"‘?H‘—CHJ

| OH

Biie i CicHaon () CHy—CH,—CHo . |

- 120 Phenol on being heated \jv_il.h concentrated H,S0, and then with concentrated HNO, gives |
. oNtrsehasci @) 2,4, 6uivivopbenol (¢ Pitrophenl (@) mritrophenol.

“423‘.' The reaction, RCN + $iCl, + HCl ——; RCHe=Ny o RCHO J

() Haloform reaction




p——— - — ‘ — *‘W‘
(@) RN,CI (» ROH (c) Both(a) and () m None of these
18. Theintermediate ‘X’ in the following reaction is L s AL i
ﬁ-NCI'

| et Na
Ry iy —-c—:-:‘%-bC‘H,NQa-hN,T-anBP‘ |
(@ CeHN==BF,  (#) CgHyNy=BF, (c) CgHsN3BF; . (d) CgHN=NBF,

]

SECTION B : (ShortAnswer (Type-1 Questions, 2M).
19. How will youconvert':

() Bromobenzene to 2-bromoncetophenorie ? (i 2-Bromobutane to But-2-ene ?

‘ Or . 1K
tﬂb(&) mleeuhr formula CgH, JCl on tmumml \vilh mloohollo KOH ulm wtwo hum

st m.ca)md(m . o PRI
® Drpolemomenlofchlorobenzene is lower than that of cyclohexyl chloride, il !
(@) Alkylhaldies though polarareimmiscible with water, AR I RN ; 2

2. meupamaleqmm involved inthe following : o |
o xotp'smum (i) Williamsonsynthesis 2

Write une names of the reagents and equnhons for lhe pmpumtlmz of the fullmy&nwg&hm by williamson's

) ) Proporypropane . (i) - Methory-2-metrylprop

J r 5
n How the ﬁl!omng will beobtained ? (Write chemlcal equnnons only), ! }
. (@ Picricacid from phenol (i) Benzoquinone from pheml’ i ;.;['. 2% 4
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() CyHyNH, , (C,H,),NH, (C,Hg),N, C;H,NH,

SECTION C; (Short Answer (Type-11 Questions, 3M)

.

206. Givereasons for the following : macromolecules
(H  Measurement of ogmotic pressure method is preferred for the determination of molar mass of
such as proteins and polymers.
(i) Aquatic animals are more comfortable in cold water than in warm water. _ 3 k.
(/7) Elevation ofboiling pointof | M KClI solution is nearly double than that of 1 M sugmz' :oluuon. it . |
27. The cell in which the following reaction occurs 2Fc™(ag) + 2I" (ag) —> 3Fe’* (ag) + S !
E%en=0236 V 21298 K. Caloulate the standard Gibbs encrgy and the equilibrium constant of the cell mm:' 3 |
28, Answer(he following questions ; '
() identify the order of reaction from the following unit for jts rate constant : [mol” 'y I] -
(#0) Theconversion of molecules Tiom A'to B follow second order kinetics, Iftoncentration of A is increased to w
three tines, how will it affect the rate of formation of B 9 v A
(i) Write the expression of integrated rate equation for zero order reaction, T 'f

Or i ’ , '

energy (E,) for the reaction, : oy

(R=8314JK™" mol™") (Given - log2=0.3010, log 3 = 04771, log 4 = 0.6021) 3
'9. Name the feagents used in the following reactions,

0 Oxidationofa primary sicohol to carboalicacid. (1) Oxidation of primary alcohol o aldehyde,
(i Bmmmramuaza,&,%mm..u_l.,-,m'

Oor

i coloured ot illd pto b, |
" CHLOCHs both have same molar mass but 11,04 i liquid at room

5 temperature and




“Wontlants. For a genery| reaction g4 +1B
that it is an alomﬂnhl?"‘m‘ﬂl. !hml:;;,cm“‘ no intermediate steps in its reaction mechanisim, mesing
 santionsofAand B jn moles per fjgrg, Exponent Bivenby r = HAT (BY, where [Aland [B) express the coneen.
The value of k varies With eoy. ‘ﬂmllm *and yvary for each reaction and aredetermined cy crimentaily
The sum of thess pronenti-nn"_d ,' t affecy feaction rotc, such as tem Peralure, pressure, surfazc area, ot

sindepcadent of the cone Wam‘ﬂtofﬂu $ overalf Teaction order. A zero order,fcqclima has a constant rate that i

L A reaction s ‘Miditb'fbe'r' , *f‘.!ﬂllnt.A firstorder reaction depends on the concentration of only one

‘ .- second order when the overall order is two. Once we have determined the

(@) What is the effect of temperanyre on rate of reaction ?
if). Ontakes i
(i)). A firstorderreaction takes 77.78 Minutes for. 50% completion, Calculate the time required for 30% completion

of this reaction (log 10 = 1, log 7 = 6.3450),

<A first order mngt_ion has a rate constant | x 1¢~> per sec. How long will Sgof this rectant take to reduce
103g? (log3= 04771 ; log 5 = 0.6990)
32. Case Study 2:

pared to kelones. The carbonyl group of carboxylic acid does not give reactions of

aldehydesandketones, Carboxylicacids are considerably moreacidicthan alcohols and most of simple phenols,

Read tl)g%lm passage carefully dnd give the auswer. of the Jollowing questions ;
() Write thé name of the product when an aldehyde reacts with excess alcohol in presence of dry HCI,

(f) Why carboxylic acid is a stronger acid than phenol ?
(%) (a) Arrange the following compounds in increasing order of their reactivity towards CH,MgBr:

CH,CHO, (CH;),C — ﬁ:—cny cn,—h:—cn3
: o)

"'% ;3';,': fb} Write a chemical test to distinguish between propanal and propanonc.
i . i . Or v .
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Ofsucrose in waicr has o freezing point 0£ 269.15 k. Calculate the frecring point ‘
'1he freezing poing of pure water is 273.15 K. 3

342 g mor

i (h) Abnormal molar mass
ML and CTionare 73.8 S iy o !
“1is 1.29 x 1072 5 em~ ! o

5
and 76.2 § cm® mol™! respectively. The

alculate its molar conductivity and degrec of

ode and the products of electrolysis of ag. KC|. r W
3en lm'éleclmdeshowsa_pomﬁaj of -0.59 V at standard
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